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)-rz-7=4r-l
2*^-+*-6=O
x'- 2x-3 = O
(,c- :)(x + l) = 6

1- -1, 3

AB is a diameter of a circle C.

Q is the centre of the circle
A has coordinates (-2, 12) and B has
coordinates (8, 2).

Find the equation of C

Q (3r 7)
Qn s2+ s' ="lFd

(x- a)2+ ( x- z)a= so

Find the equation of the tangent to C at
the point A.

/Y)o4 = -{=-t
frl. ='l
Tgt Ls z -12=rt2

=x.tlh

Find the values of x for which

.r' - 10 *2x2 - 4x3 is an increasing
function.

tudr = tF r- 12 2.1

Ir,cr =; \r - l21a I g
hx (r_:,c) > o

O. *.5.

Describe fully the single transformation

represented by -l 0
0 -1

(r, o)+ (-r, o)

(o, r1- (0, -r)
R.ob^_h.o"., 13go Jo.b o. o)
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f (x) - 2x - 7 for all values of x

Sotve /(x2) = 4x - |


